CATTLEMAN INSTALLATION SHEET -

2011-2014 CH EVY/GMC 2500/3500 PART #4112
10” DROP REAR BUMPER

2 - 3/8 X 2 Bolts 2-1/2x11/2Bolt 4-1/4 x 3/4 Bolt

2 - 3/8 Nut 4-1/2x2Bolt 4 -1/4 Nuts

3/8 Lock Washer 6 - 1/2 Lock Washer 4 - 1/4 Lock Washers
4 - 3/8 Flat Washer 6-1/2 Nut 8 - 1/4 Flat Washers

12 - 1/2 Flat Washer 1 - Plug Bracket

Step 1 Remove factory rear bumper and remove trailer plug.

Step 2 Put new rear Bumper in place and bolt on.

Step 3 Check alignment on the rear bumper and tighten bolts.

Step 4 Put trailer plug bracket on the bottom sid eo fthe wing as shown.

(Note: You may need to periodically retighten bolts.)

Trailer Plug
Bracket

..-_ a = "-- - . e . - -2 ._-_-.- ._ 5 e _ c ; ‘.-__ ..__._ . -2 . . ; —— . - .‘ .
A —— N5 " S 0"
N e
www.cattiemanhd.com
% -y



